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Ⅰ. VOCABULARY  (10％)
Choose the one word that best keeps the meaning of the original sentence if it is substituted for the underlined word.
1. To deal with the problem of global warming, President Obama and other leaders pledged to reach a placeholder accord that would help developing countries get _____ to non-polluting energy options.
	(A) invention
	(B) access
	(C) experiment
	(D) fort


2. The aim of a _____ to Mars is mainly to discover the facts that may shed light on nature and origin of life on Earth. 

	(A) council
	(B) errand
	(C) mission
	(D) crush


3. One of the distinct features of playing Go Chess (Weiqi in Chinese) is not to defeat your opponent, but to try the patience of the players in _____ the territory. 

	(A) expanding
	(B) consuming
	(C) diminishing
	(D) estimating


4. France has what is certainly the most cosmopolitan wine market in the world, so _____ of choice is not a problem.
	(A) breadth
	(B) width
	(C) length
	(D) variable


5. The debate between vulnerability and _____ has been a persistent theme among child psychologists studying children under stress.
	(A) rigidness
	(B) resilience
	(C) susceptibility
	(D) flexibility


Ⅱ. GRAMMAR  (10％)
Choose the one word or phrase that best completes the sentence.
6. _____ the constant efforts and sincere apology, he did not work out the critical problem in his marriage. 

	(A) Despite of
	(B) In spite of
	(C) Owing to
	(D) Rather than


7. In such public places as restaurants and hospitals, they don’t allow _____.

(A) people smoking             (B) people to be smoking 

(C) people’s smoking            (D) people should smoke

8. It would be better for politicians to avoid useless arguments when national issues are _____ stake.

	(A) for
	(B) in
	(C) by
	(D) at


9. In fact, society is not so terrible _____ we imagine it to be.
	(A) like
	(B) that
	(C) which
	(D) as


10. Impromptu speech is a contest _____ you don’t know the topic you’re going to talk about until ten minutes before you go on stage.
	(A) in which
	(B) that
	(C) what
	(D) wherefore


Ⅲ. READING COMPREHENSION  (20%)

Choose the correct answer for the following items about the reading passage.
Questions 11-15
The disaster in Haiti isn’t over yet. It’s actually getting worse, while the world-wide attention has faded away. The earthquake on January 12 left 1.3 million people homeless taking shelter in hundreds of camps. To make it worse, the dreaded rains have already swamped tents and spoiled stick-and-tarp huts. They have turned walkways into lakes and make it more difficult or almost impossible to collect and cook food, to wash clothes, and even to stay clean and avoid diseases. And the rainy season peaks in May.

Worsening the weather crisis are the unchecked sexual assaults and rapes in the camps. A new report from Amnesty International affirms that security is inadequate, that police and soldiers are often missing, that every nightfall brings terror. Victims stay silent because rapists go uncaught and unpunished. Both the shelter and safety crises demand an urgent response, but their impact is only sporadically felt. One group is trying to provide women and girls with thousands of flashlights. It’s a kind and practical gesture, but what they really need are shelters from sexual violence, and adequate policing. Haiti has neither, Amnesty International reports. Any effective solution would need to be coordinated with the government of Haiti, whose leaders have been absent from the lives of Haitian citizens since the disaster. We understand the government has been working hard to prepare for a donor conference next week, where big ideas for the future will be discussed. But, some United States troops have started going home. Overmatched workers for United Nations agencies and nongovernmental organizations are toiling away, many of them heroically. But ultimately progress must be judged by results. New ways must be found to solve problems, and urgency sustained. Haiti is in danger of becoming what it always was, a nagging blot to the conscience, a neglected project that never gets done. 
11. The natural disaster in Haiti was getting worse mainly because __________________.
(A)the heavy rain made it difficult to transport the food and life necessities to the affected areas
(B)the patients were unable to receive appropriate treatment and medication
(C)the hygiene was getting worse there
(D)insufficient security measures made women vulnerable to the sexual assaults
12. Which of the following is true?

(A)After the earthquake most people in Haiti lived in government-built houses.

(B)The coming rainy season would solve the problem of water insufficiency.

(C)The police and the soldiers did not provide enough security measures for the female victims who lived in the tents.

(D)None of the groups took any measure to help the raped women in Haiti.
13. The reason why Haiti government did not do anything for the sexual violence was __________________ .
(A)the government had no ability to deal with this critical problem
(B)the government had been busy with the arrangement of the donations from other countries and the plans for the future
(C)the government did not notice how serious the sexual violence was
(D)other charities had done a lot for that
14. “New ways must be found to solve problems, and urgency sustained.” What does the bold-faced word mean? 

(A)disappeared
(B)resumed
(C)allowed something to continue for a period of time
(D)abandoned

15. What can be inferred from the passage?

(A)The government in Haiti should pay more attention to the hygienic problem.

(B)The problem was getting worse because the United States troops did not work well with the Haiti government.

(C)Sexual violence and security problem are what Haiti government has to cope with at present. 

(D)Haiti government should call for more help from other countries for national reconstruction.
Questions 16-20
There continues to be great debate concerning the Chinese government’s simplification of the writing system in　China in the 1950’s. The utopian impulses behind the standardization and simplification of a living language are always understandable. Increased literacy, administrative efficiency, and ease of communication are worthy goals. But those impulses can also strip a language of its wit, imagination, and play, not to mention its capacity to accommodate new concepts and usages.

The inability to read traditional characters is to close oneself off to Chinese history and arts before the 1950s. 

In fact, traditional characters and simplified characters never were two separate and independent language systems — they have always existed on a continuum. Many simplified characters are adaptations from common usage in Chinese cursive script; still, the inability to read traditional characters is to close oneself off to much of the Chinese cultural legacy — its history and arts — before the 1950s.

Since I grew up in Taiwan, where reading and writing in traditional characters is the norm, simplified characters were a novelty and a bit of a challenge, and perhaps, something to be sniffed at. But when my first job after college led me to Beijing to work as a literary translator, I spent the first week cautiously consulting a little manual of “Simplified/Traditional Character Conversion” before I became fully comfortable with the new system, including learning to write my name in a way that was comprehensible to desk clerks. The experience taught me the follies of being a cultural purist.

Given the increasing flow of published and online materials among the mainland China, Taiwan, and the overseas Chinese diasporas, a literate reader must have the ability to code-switch. Thus, the answer is not either/or, but — annoyingly for policy makers — both.
16. What is the most likely title for this article?
(A)The Advantages of Traditional Characters

(B)The Utopian Ideal in Writing
(C)The Advantages of Simplified Characters

(D)China’s Cultural Legacy
17. Which of the following is NOT an advantage of simplifying characters?
(A)making communication between Chinese communities easier

(B)increasing the number of Chinese people who can read and write

(C)saving time and money

(D)making classic literature available to everyone
18. What is the writer’s personal feeling concerning using simplified characters? 

(A)They are culturally inferior to traditional characters.
(B)They are simply adaptations that come from the cursive script.
(C)They are a necessary part of modern literacy.
(D)They simplify paperwork, but lack interest.
19. What is the likely meaning of the word diasporas?

(A)the movement of a population sharing a common ethnic identity

(B)cultural changes caused by immigration

(C)foreigners

(D)a group sharing common ethnic identity
20. What can you infer from the reading?

(A)The writer is most interested in the cultural aspect of language.
(B)The writer is most interested in the efficiency of language.
(C)The writer is most interested in the beauty of language.
(D)The writer is most interested in the practicality of language.
Ⅳ. TRANSLATION  (10%)
Translate the following passage into English.
許多小孩被迫去上課後學習課程，他們沒有時間可以享受閱讀的樂趣，或打籃球輕鬆一下。
不得使用計算機或任何儀具。
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